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CH-4445 Seat No.
B. 5S¢, (Sem.-I1) Examination
April - 2024

AEC English : AEC-204
(Text : Science & Reading)
(Ability Enhancemenr Course)

(NEP 2023)
Time : 2 Howrs| [ Total Marks : 25

Imstruction : Indicate your option clearly.

1 (a2} Answer the following guestions ; (any five) 5
(1) Which company i Indra Nooyi Chairperson
of?
{2) How did Indra Noovi mamtan her work-life
halance?
(3} What does the young generation need to
retain?
(4) What according 0 Arnold Toynbee is the
first advice to the younger generation?
(5) Why were the girl"s parents anxious?
(6) Why did Ms. Krishna stay at the narrator’s
house?
{7) Hovw does one leirn about science?
{8) What is the ulimate aim of scientific
knowledge?
CH-4445] 1 [ Contd...



(&)

Match the co'umn A with their corresponding
meaning in column B,
A B

{1} Hallmark (1} - Srave, spirited

(2) Prevail (2}  Bad-tempered and
sulky

(3) Ciallan {3) A distinctive kature

(4 Sulien {4) Made smaller or less

(5} Dhminished (5}  Prove more powerful
or superior

Fill in the blanks with appropriatz option given in the

brackets - (any ten)

(1)
(2)
(3}
(4)
(5
(6)
(M)
(8)

(%)
(10)

(i)

(12}
CH-4445]

l'ran __ the road. (acress, beyond, from)

He died  sorrow. (wih, from, of)

Netgji Bose fought  the leadership of Gandhiii.
iin, for, under)

____ this howse. they have cne in the native place
(beside. besides, between)

The uger is killed & hunter. (by, with, to)
He sat _ me. (beside, besides, as)

Help yoursell’  God will not help you. (and,
but. otherwise)

Ourleacherisldnd  Tlike him, {(and, because,
£0)

Dopisop  vou get success, (and, if, until)
Rahul por good marks _ he was dull. (though,
e, ot}

My fatherisold he is healthy. (because, so,
but)

Wail __ vour turn comes. {when, till, and)

5
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3 ‘Write a paragraph on any one of the lollowing : 5

(1) Thhhﬂfadmmumhﬁmeducaﬁm
{2} The rolear science in the film industry,
(3 Wonders of Science.
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Total Marks : 70

April-24-03-4603
B.Sc. Sem. -1 (New) Examination
Course Implemented after June- 2020
April -2024
Chemistry CCCH-201

Time : 2% Hours

Que. |

e 2

Que, 4

e

LY —

i

el

P

Answer Any Two followirg,

Sxplain the splitting of d-crbitals in Tetra-hedral commplexes.
Calculate EAN of following cotplex ions.
{8) [NEECOL] by [crlwﬂg.]*ﬁ[ﬁ {CNL] o) (POMT
Discuss magnetic property and cilowr of the Actinide elemenis:

]
-

Answer Any Two following. i;
Explaint various conformation=of Cyelohexane with diagram
and give its stability.,

Write & note on Optical Isomerism.

Explain E-Z nomenclature in detajl,

Answer Any Two following.
What is second order reaction? Derive the equation of rate
constant for second order reaction when {d & h).
Write a note on "Paking Fraction®.
What is rate of reaction? Explain factors affecting the rate of
reaction,
i
Aaswer Any Two following =2,
What is Error? Explain its typcs. ¥
Explain Accuracy and Precisi
Discuss advantages and limitatipns of chemical instrumental
n“ﬂll'.ﬂjﬁ. i)
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Time :  Hours)

CH-4421

seat Mo.

B. Se. (Sem. I Examination

April - 2024

SC23MJIDSCCHE-201 : Chemistry

1 30 A of sl oeqin aqdL
IUPAC =M &l

(1}

(2)
{3)

(a}
ib)
(ch
(d}
=)
(f)

Nas [ A1(ox), |

Ko Cr(tty)y(ves),
Co(r), | e (ox), |
Ky | Het|

Vi Ag(8:03), |

Ka[cufon), ]

[ Total Marks : &0
13

Arivrdl Bt ol A-ll widiBes umida; x4l
F. AN 25

fal

{h)

(e}
(dy

. el

CH-4421]

ir

[f_'u {CN) . ]-:

J:f'n{h'ﬂj}ﬁ:l e
| Pdct, |
Naa[Pdciy

+

T

[P nirs), |

]

(Netg ) er(ew), ]
1
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ENGLISH VERSION

t Answer any two guestions. 13
(1) Write I[UPAC Nomenclalure

(@)

(b

L

{c)
{d}
e}

()

Nas| AH(OX b |

K| Cr(NH), NCS), |
[Co(nms ) ] (0x), |
K| Hely]

Nais [ Ag(505), |

Ka| Cu(CN), |

{2y Fxplain Werner's theory and iis practical Feasibility,
(3), Calculale E. AN

el e " T+
) | Cu(CN), | (h) LLu{Nf!;}ﬁJ
() [Pdcly]” () Naa|Patly]
r r:
ter [ Pe(nits), ] M (N or(en),]
2 Answer any two questions. 12
{1} Explain Meso isomers, enantiomers and
diastereomers.

{2} What is isomers! Explain geometrical isomers
with examples.

(3} Discuss the various conformations found in
butane and its stability graph.

CH-4421]
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3 Anpswer the lollowing questions. 12
(1) The change in entropy when 3.1 moies of H, atl
6 wmespheres 15 allowed to expand, jsothermally
and reversibly is 18 e I so, caleulate the Ginal
pressure of the pas,
ORr
(1} A machine at a tempernture of 300K shsorhs
WY calories of hem from a heat containe:, If the
efficiency of the machine is 0.39, how much
work will e machine do” What will be the
tempereture of the sink”
(2)  What is & wheat capacity” Explain heat capacity
al consant temperature and pressurc.
OR

(2} Explain Gibbs Helmboliz equation,

4  Answer any two questions. 12
(1} Write a note on Mohr method
{2} Find oot the XN NaCH solution normality,
modariy and gm/Titer using 001N HOL solution,
(3} Following compounds find out eguivalent weigh
andd imolecular weight with help of molecular
tormula
Molecuar weight If = 1, (' = 12, O = 16,
§=32 No=23, k=39 Mn=55)
lay  HaCay
by NupSach
{e) KMntl

CH-4411] 4 | 2970 |
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CH-4429 Seat No.

B. Se¢, (Sem.-1T) Examination

April - 2024
Chemistry : SC2IMIOSCCHE-202
(Fundamentals of Chemisiry-2)
2: ¥ Hours] [Total Marks : 25
AW A el st Sl 8
(i) lbelil Getazel aadl ofifilrs 3qmesdy wumal
piiy albel a2 ans duda selien s gl
el

(i) [CrCH,0) 12 =i quFc{L*J}ﬁl-j; W1 sl
AL I SR AL ety sy
a8l 53,

S A iy rosy aang) - 8

(1) 45l dadivte Seiiae Y,

(i) A e o B sl sy Gulass wlia
WAL

(iii) wstnbailladl =2d 47 dsdls wfRed wan
Faeuislladl sxmal,

I o AR e L 9

(i} [quNH,‘stiILL e [CO(NH;) jua-j, 4z
elaslen sutns siive €15

(i) A= EAN sigil «
[Cu(NH;), 180, [Fe(CN)]
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ENGIJEH VERSION
I Answer My twp
(i) Explain Geometyie 1S0MmeTiSm with Example iy
complesx;
(i) Explain the CXperimenty) evidetice fop Werner
oy
{iii} Acconding 1o V., theory explain the SITLChure gy
defing Magneje Property [Cr{“HjDJ 2 any
Kdl‘-‘a‘ﬂmﬁf
2 Answer 20y twyy : 5
(1) Diseysy the Confonmation of cyelohesane
{ii} Ixplajn With EXample of STmEry plaps and
SYImmery gy
(1) Whick S opticy] I50meriseo Explain optical
somerjsm of lactic deid,
CH-1429) 2
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3 Answer any three 9

(i) |CCYNH,) LG and [COMNH,) JCly according
Ao wemar's theory draw the stroctire.

(i1} Calculate FAN
[CuiNHy) 18O, [FeON), ]

(i1} Explain with example of Symmetry cenire and
cirality,

(ivl Following F-2 nomen elatare -

F H H CiOMIH
xT/f 2Hs5 N r"f

:
‘!l. amd {_!
CH NCHg 3/ \coan

CH-4429] A | 1440 |
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CH-4437-4438 Seat Mo,
B. Sc. (Sem, 11) Examination
April - 2024
Chemistry : SC2IMDCCHE-203
{1} General Chemistry - 11

(New Course & NEP)

(X} Pollution and Climate Change
{New Coorse and NEF)

Time :  Howrs | | Total Marks :

{1} General Chemistry - 11
(New Course & NEP)

-

R E R TE ST TR ST (O 8§ o
(1) ellde ue wamal -
(a) sl wenedl wmmel,
by ==gndl
(¢} el
(2) iizas wwondl d-l el BN Ak vl
(3wl uBREE wE whad vl suesiay
B Hell 314 MMEL

2 flFAl o wbed UL A A S WAL Bl B
(1) EDTAAL 3eiMs sl o aly 4 248 el
C O glR st wEEl
(2) Lila sy dsmdl

(3)  =hafl-sithan veuse HEmEl
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CO TR TR =y e o) Wl Sl ) - 9
(1) &z w4 127°C armd 300 sad] ol Aigmin
e 53 6, @l A4 el 069 B, w0 wBa i
A s e wifiW Gafas elliHimell wmadl s3]
(2)  Ususluesel was Fay wymidl il iflm
I cllgl,
() wEERY S svmdl,

ENGLISH VERSION

I Writé any  two out of three questions 5
(1) Explain the following ;
(2)  Adiabatic syatem
(b) Entropy
{¢)  Enthalpy
(2)  Discuss in detail Carnol cy¥ele and its efficiency,
(3) Define work done of ideal gas under isythermal
condition for reversible process.

2 Write gny two ot of three questions L
(1} Discuss ‘itration involving EDTA as titrant:
(2) Explain redox titration.
(3) Discuss acid hase Htration.

3 Writ¢ any two out of three questions - 9
(1) A Carnot engine working at 127°C temperature
absorbs 300 cal of eneray from its initial position
(source), if the efficiency of the engine is 0.69,
calculite the work done and temperatire at the
final posiion { sink),
(2)  State first law of thermodynamics and derive its
Mathematical form,
(3)  Discuss complexamietric iitration
CH-3437-4428 | 2 | Confd...



(2) Pollution and Climate Change
(New Course and NEP)
1 ~AlE- et sy s (360 o &) 8
(1) =ywmal o3l il sins
(2) Wl wgie] Fresm 565 dld sweil?

(3 e sedeell seEl sl

3 oAl el s i 3 (a0 A 8L, g
1) R i sl =il el
12) eiaae Hea 37 ways wimdl,

(3 gaei wl ¢ P WA didsie

3 odlfel el armiss w0l (3l 3 ) ]
1) sl MeMe] s e,
2) will wENS mzsiqael um) gl
() szt 336134 Wuy sal yEmo smndl,

(4) Ml 2 el
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ENGLISH VERSION

I Answer the following questions | (any two). 8
(1) Explain Green House effect.
(2) How can you control the soil pollution?

(3) Give Ibe effect of notse pollufion.

3 Answer the following questions | (any Iwo). &
(1) Give the effects of climate change n Tndis.
(2} What is climate change? Explain water cycle.
{3) Writc a shont note < Globle mean fempralure.

3 Answer the following questions : (any three). 9
(1) Give the effect of air pollution,
(2) Give the solutions to prevent WaLEr poliution.
(1) Give the responsible factors for climase change.

(4) Explan @ Ozone layer,

CH-4437-4438 | I | 1320 |
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CH-4449  SearNo

B. Sc¢. (Sem. 11} Examination
April - 2024
SC23SECHE-206 (D) : Water Quality Assessment

Time : 2 Mours] [liotal Marks - 25
¥UAL : st W Wl SRl 6

T Al il s =l o (e g &) 8
(1) welld uevus (@50 2ediy el
(2} velal vdal 2rugels g2t Ssl A9 sEL
(3) e et (e Gaedin el

2 elaed wedivl R L (B o o)) 8
(1) e vl BIS sooy Sa-SHiesl omudl
(2} ozl e wegldl smden el weudl
(3) el slifs e aesmells aptedl awmudl

3 ol welen s s 9
(1) el dgve Sise Bl Zsui wamdl
() dmizadbal wel-l gmanm-d wseel sl [REy
2 waldwdld Zemi asid 53
(3wl By wla saei o,
(4) e A wisllg gfesea wxgdl
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ENGLISH VERSION

Instructions : Al questions are compulsory,

1 Answer the Tollowing questions - {any two) B

(1) Wnite a short note on water pollution
{2)  Briefly describe the chemical reactions in water,
(3)  Write a short note on water Imanagement

2 Answer the following questions {any fwa) 5

(1) Writc on norms for drinking water as per BIS.
(2)  Write on industrial water quality standards in India.
(3)  Write on physical and chemical properties of water.

4 Answer the following Yestions ; 9

(1} Briefly explain the Water Polhition Act

2) Various methods of testing water quality in the
laboratory describe in brief

(3) State the vatious sources of water supply,

(4) Explain the putification of drninking water

CH-4449) 2 | 300 |



CH-4420 Seal No.

B, Se. (Sem. 1) Examination
April - 2024
SC23IMIDSCPHY-201 - Electrostatics, ¢lassical
Mechanics, Flectricity and Optics
(NEP)
Time © 2:30 Hoors| [Total Marks - S0

AL 2 (1) B A i w8
(2) W8 % Wil 530 &
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() otopaial s we ooy saum gl
(1) wetsugl 208 wows. sl 58 willswg
Huj4l,
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WAL 53,
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AR Wl
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Al sl el grmmel] 53
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(2) Azadwl Gisd Gaad B o+ 100 V s
Rs = 4 et -di -eadvpl sodl wens
gz kel wa?

4 () wmuidl S5 wm S vam =il 1
(1} [Rad 2443 zéa o Widm =ele doyd
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(30 A=l ol B vl [ a3
(o) ol S5 R Siedl Y sudk 3
(1) wH2rinl A&l Sl s Ges e JHdy
e B sl 2 wald] Yssisl M
[y aeuel i 1.5 @l 4l 135 wdll
B ool waldlel adleaels sl

(20 s Foausedl sl susla Gl asmal
ENGLISH VERSION

Instructions : (1) This gucstion paper contams four
questions.
(2)  All quesnons are compulsory.
(3) Figure af right side indicate the marks of
Gueestrons.
(4) Thustrate your answeér with proper higures
and diagram.

CH-4420) 3 |Conid...




I (2} Write answer any two oul of three. 8
(1) State and prove Gauss's law m differential

forms.

(2} What is conservation of charge? Find
Coniinuity equation for charge.

{3) Discuss the Milicon method of determining
the electric charge on an electron.

(by  Write answer any one oul of two. 4

(1) 1f 5000 filed lines of liree enter and 3000
lines of force leaves a certain spatial volume,
catculate the wotal eleviric charge contained
in it

W7

{2) Prove that for relaxation time.

pi=pge

2 {a) Write answer any Two ool of three 1%

(1} Derive an equation of particle which is
simple harmonic motion with same
frequency.

(2] Derive the differential equation and its
solution for a particle moving in & resistive
medivm. Explain which type of motion will

i |'
a particle pertorm lor k—ai oo =0 and
k.."'.

ZamT=d,

CH-4420] 4 |Contd...
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(3)  Explain method ol determinng gravitational
tieceleration g and radius of pyration k of 4
bar pendulum.

Write unswer any one out of twy,
(1} The initial phase of particle having STLMS.
i
He and periodic time is 1 se¢. Find phase
after the ime 3 sec.

(2) Find the time for the amplitude 1o become
half of its oniginal for damped oscillation.

Write answer any two out of three.

(1) Obtain helmholiz equation for RL de eircuit
discuss the graph for increasing current aficr
obtaining its equation.

(2) Write maximum power theorem with
example.

(3)  What is apacity of capacitor? Compare
capacity of two capacitor using Desoty
method.

Wrile answer siny one out of ta,

(1) Tlime consant of RL circuit is 0.002 sec.
when resisiance of 900 js connected in
series with il, its time constay reduces o
0.0003 sac, Find the value of rsistance and
inductuance.

b



{a)

(b)

(2} Find oul muxinium power of network in
which E =100 V and Rs = 4¢,.

Wrile answer any (wo out of ihree

(1) Obiain' the equivalent focal length of two.

thin lenses scparated by a finite distance.

(%) Explain the interference by thin layers.
Ihmrﬂ Formuls for the path difference in
the case of reflection section.

(3)  Discuss spherival sbormtion in o lens,

Write answer any one out of tw,

(1) Tn newton's ring experiment the diameter of
10th ring charge from 1.5 cm fo .35 cm
when 3 liguid is introduced between the
lens and plate caleulate the refractive index
of the ligguiid.

{2) Explain chromatic aberration by drawing
schematic diagran:.

10
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CH-4428 Seat Np,

B. Sc. (Sem. IT) (NEP 2020) Examina¢
April - 2024
SE‘ISMIDSEPHY-II]J : Physics
(Electrostarics, Clasxical Mechanics) (Minor)

Time : 2 Hours| [Total Marks « 25
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1 (&)
{4)
 {a)
(b

CH-4428)

ENGLISH VERSION

Attempt any two guestions. 8
(1} Explain Milikan's O] drop method for
determinatior of electronic charge.
(2} Write down the statcment of Crauss's hiw,
Derive i1
(3} Derive an equation of relaxation time.
Atlempt any ong questions, 4
(1} Explain current and current density with
ligure.
(21 Write down difference between the EMF
and terminal voltage.
Atlempe any two' gucstions, L1
1y Derive the solution of the simple harmonic
motion of the particle for the motion due 1o
the constant force
(2} Explain the combination of the two simiple
e motions having same frequency
and moving 10 one direction,
(3)  Discuss Lissajous figures and its yses,
Attempt any one oul of rwo. 3
(1} Derive an squirion of the displacement of
the particle at fime | for (he force act for
shon time.
(2} Define damped oseillation and derive i
equations
2 | 1980 |
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CH-4436 Seatl Mo,
B. Sc. (Sem. 11) Examination
April - 2024

Physics : SC23MDSCPHY 203
(Electricity & Optics)

{New Course)
Time : 1% Howrs | [ Total Marks = 25
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ENGLISH VERSION

Instructions : ), Figures on RS, indicate individug) marks.

(2} The symhols have their ysyg) meEanings.

I {a) Attempr any Wi guestions - 8

{1} LR series cireidr js connected with D¢,
Source. Derive equation for growth of
Current at any time in electric clireuit,

(2}  State ang explain Thevenin's theorem,

{3) Dérive the fermula 1o find out the
inductance of tncictor using Maxwell's
Bridge,

(k) Attempt any one question 4

(LY A resistor of SO0 and an inductor of 0 5

H are sennected in series with HN) volt DO
source. Find time constant and maximugm
current of the Circuit,

(2} Given E = Wy R, = 1500 a = 504).
Caleulae E,:q and Rﬂl tor Thevenin theorem,
1 (a Attempt any e questions - 11

() Obtain the equivalent fioeq) length of two
thin fenses separdied by a Fnije distance,

{2 Prove that i the case of g thin convex lens

E Y} 7
-k —] —
v u {H jl Hl RE.'

CH-4436 | 3 | Conti...



{3} Derive the formula of path differcnce tor
the reflection section explaining imerference
by thin layers.

(b)  Attempt any one guestion 3

{1} Two thin convex lenses having focal lengths
20 em and 5 cm are coaxial and separated
by a disiance of 10 cm. Find the equilvalent
foeal Tength of the combimation,

(2) 1n Newton's rings experiment the diameter
af 15" ring was found 1o be 0.59 em and
that of the 5 ring was 0.336 cm. If the
radius of the plano-convex lens is 100 cm.
calculate the wavelength of light used.

CH-4436 | 4 | 1776 |
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CH-4446 Seat No,

B. Se. (Sem. IT) Examination
April - 2024
SC23SECPHY-206 . Physics
(Electronic Circuif Efemenrs & Energy Sources)

e

Time ; 1.5 Hours] [Total Marks : 25

WU D 20 Wtop 8wl wpadn s, Sl W]y
AU B g2l 56

(2) el s wis Yomiey) e ealg 9,

Lo (ot) 8 waeflon oo gnf - {53 o o) 8
(1) »adint sevdie e ulfbas HHnal,
(2) iz wd wedivy Qg qadq) e ynmMq),
(3) v Bty g #3l,
(o) A8y Wheliott meegoy g EIERETENTY 4
(1) ez uz i g,
() lesus 30allen fdl wwmar

2 (M) A8 s wen w) (¥ q &) 10
(1) Titsa Bsftiiy dw (38 A4
(2) ol e st svell il s
(3) %% 3y wd 23y iyt
) il Wadlag swesy ey (a3 ls) 3
(1) st de @Y s
(2) s s dg (38 &5 vii% )

CH-44446] | |Contd,,.



ENGLISH VERSION

Instructions ; (1) This question PAPEr containg two

1 {a}
()

2 fal
(i

CH-444p]

questions. All questions are compulsory,

(2) Figures at right side indicate the marks
of guesions.

Amnswer the following questions. (any two) 5
(1) Explain the color cade of resisiance.
{2} Write the difference between selfinductance

and mutual inductance,
(3)  Discuss briefly sbout the potentiometers,
Answer the following guestions, {any one) 4
(1}  Write a note on Rheostat.
(2)  Explain the fixed capacitors,

Answer the following guestions. (any twa) {0
(1) Deseribe Nickel Cadmium cell

(2} Explain different types of dry cells.

(3)  Explain step up and step down transformer,
Answer the following questions. {any one) 3
(1} Discuss about the solar cell.

{2)  Write a short note on Carbon Zine Cell.

2 | 870 |
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CH-4447 Seat No.

B. Se. (Sem, 1) Examination
April — 2024
Paper : SCE-207 . Physics
(Measurement System) (New Course)

I
Time 'E Hoers | | Fotal Marks - 25

HHUE (1) smedl Al w6 wyd 3.
(2) =l Wy saldm sis Gzumy A8l B &,

Lo () & e o wadivn srapny gy - 8
(1) 4ol 2reefions dlasny aeils Sl d
AL,
(2) H0dA 12 Seeilan vt [ree sliydag adaL
(3} Rudimentary pressure galges 514 Ll we
il
(o) SU umL syl e g 4
(1) ol ethil « Mpgee] g,
(2) & el aior w4 Saine g,

2o (3) A dm o wadinl was g 10
(1) =L ugh speaylg o5
(1) sisysa (2) [3s2
(3) AFRREA  (4) By
(2) s dai sl av)l Wy A2kl
[Feem w2 deudy yaey LTS
(3} wuWal : Startistical analysis curve,
CH-4447] 1 [Contd...



(o) S5 wa #s whitw TUW @l 3

(1) gr250 4 snds Hlza 89 dlewd s
150 V edlld 9, diceel 2y 4y (46 Y
i ol Tadie 2], Taie yadl e wia
A1l Baedl aigil.

(2) ool s R wud el wul B,
R =37 011 5%, R2=T50045%,
R3=500+5%  wil »EdEd sl wia
i e el mady w2 limiting 22l
silssMl 2 limiting 2l 25a0] AL

ENGLISH VERSION

Instructions = (1) The symhols used have their usual

mcAning.
(2) Figure on the right indicate marks of sub
guestion.
1 (a) Attempt any two questions : 8

(1) Explain generalized system of meansurement
with block diagram.

(2) Describe analog and digital mode of
pperations.

{(3) Describe working of rodimentary pressire
gauge with figure,

{b) Attempt sy one guestions ;- 4

(1} Write ‘a2 note on “significance of
MEAsUrement

(21 Give advantages and disadvamages of null
method.

CH-4447] 2 [Contd...



2 (a) Ademp any fwe quastions i1
t!) Define the following terms :

(L) Accuracy
(2) Dirifi
(3} Sensitivity

i4) precision
(2¥ ' List types of systematic error, Lxplain the
measure taken © minimize these errors.
(3} Explain ; Stalistcal mnalysis curve.
(b} Atempt any one questions ; 3
(1) Avoltage has a troe valie 1.50 V. An analog

mdicating instrument with scale 0 25F
show & vollage of | 46 V. Caleulating the
vilues of absolutz error and correction and
relative error.

{2)  Three resistors have the following ratings
Rl=3T0+5% R2=750+5%
R3=3000+5% Caleulaie limiting error in
ohm and percent of the resismnce when
connecled these resistors in serjes.

CH-4447) 3 [ 180 |
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{:H'd-’lli Sl Mo —
B. Se. (Sem. I) (W.E.F. 2023, NEP) Examination
April - 2024

SCIIMIDSCBOT-201 - Botany
(Biomotecules & Cell Riology)

1
limg - IE Howrs) [Total Marky © &0

AU 1) I R se A wed) @
(2) wEl suy wiag e g AL AE WG 6,
(3) w3 oo o s B il MU Gy
WL,

U ) RCTE TR S rmr gy gl (e oy We) g
(1) slaiifle 28 o 7 ielidisn e anondl
(2) 293 : s [l asifsan
(M) sl MR astell ¢ (a3 4 3ia) 4
(1) asimn gl « dgui w4 Ao EZ1AG
(2) =l ;e

2 () ey wndl wlEede e wog - (58 Y Bis) 9
(1) 2l e st e ETE)
(2) AUt et Gssd (DNA)| ke asmal
(W) wow waid el - (o g ) 4
(1} S3ary RNA (m-RNA) ®imdy,
{2) aadl ;@ =g sy CELTS

CH-1423] I [Contd.,,



S S BT T g oo TN AL (G oy By g
(1) a3 apafys MELAL L L DRI
Sl g anged] H2Uiol] sz guged]
(20 3] ey ay MG gl il
(%) oy gy el (i g W) 4
() st wd e sqiy wiss, I o)
(2} aprsiiags (Rt ] 2aeys 2y 0]
A,

) e yyg Az sy g ClEd wm Bs) o
(1) sealEmyarad] agpy, =l o w15l
e S
(2} a24) = sigioiy o) AL e ]
(W) wewr yod aefa . ELELETY) 4
(1} sRasey g LEET
(2) stfgallmior yy B

ENGLISH VERSION

Instructiony . (Al questions are compulsory
(2} Figures 1o the righ| side indicate marks
of the question.
(3} Drow the neat and inhe e diagram, if
needed.

1 qa) Atempt any one. gy of tag B
(1) Whar s carbohydrate 7 Explain
: Monosaciharide in dewil in degaj)
(2} Explain - Classification of simple lipids.

EH*HEHI 2 [Contd,..
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(b

2 (&)

ik

3 fa)
ik)
CH-1423]

Attempt any one oot of fwo -

(1) Write down a difference between saturated
and isaturated fatty acids.

(2} DPescribe ¢ Celluose,

Atlempt any one om of two

(1) Deseribe : Structural levels of Proteins,
(2)  Explam : Watson and Crick’s DNA model,
Atlempt any one out of two -

{1}  Explain : m-RNA.

(2} Explain : Characteristios of Amino acids,

Atterapt any one out of fwo -

(1) FExplain : Compyrison  of microscopic
structure of a typical prokaryotic cell and
cukarvotic cell,

(2)  Explain : Structune anil functions of Nucleus.
Attempt any one out of rwo

(1} Singer and Nicholai's fluid mosaic muodel
of’ plasma membrans.

(2} Explain : The structure and functions of
Plasmodesmata.

4 [Contd...
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4 {a) Atempl any one out of two ]

i1y Define cell divigion and describe the mitosis
with diagram.

(2) Explain : Struewre and functions of
Mutochondria.

(h) Attempt any one out of two : 4
(1} Explain : Functions of Chloroplast

{2} Explain - Sigmificance of Meiosis,

CH-4423] 9 [ 1083 |
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CH-4431 Seal No,
B. Sc. (Sem. I1) Examination
April - 2024
Botany : {Minor) SC13MiDSCBOT-202

(Organic Molecuies & Cytology)
(New Course NEP-2020}

Time : 24 Hours | [ Total Marks : 25

AL (1) T ML ge el B,
(2} o M-l &3frad g,
(3) sl by eatide wis g eald B,
(4) Wotrtl sl wge sy eyl sugf flad),

I (o) by asfdl : (a4 ) 6
(1) sidisfiz s2d A7 Wit Wil
@) dbilleu ymenl w4 wla R abin 59,

(1) it soudt sl = (s 4 s 4
(1) “if#beden qaleay
() A e rige S50

2 () ulds agldl : (sid g Ss) 6
(1) sosuya-l wmdl o4 4] sxma
(2)  aBasaedl 234 = sl qumdL

(o) Hisuy Wil 30 ¢ () A =it} 4
(1) sl = aaiiey
2) wEal wsdaumn
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3 yivyy yMie &3l (0 d uix) 5

(1)
(2)
(3)
(4)
(3)
(i)
(7}

BT T T

Wimms-] s el

el (A waEal A L,
gl Witinidl seiale 55 &7
it s el o

vl ) el
sflesla (36 wmmal.

ENGLISH VERSION

Instructions : (1) There are wtal three questions in this paper,

1 (=)
i)
1 (a)

CH-4431 |

(2) All questions are compulsory.

(3) Right side numbers indicate marks.

(4) Draw a labelled disgram i’ necessary in
HNSWET,

Describe in details ; {any one) 6

(1} What is Carbohydrates? Briefly explain
moncsaccharides.

{2) Expluin : Characteristics of lipid and
complex lipid.

Do as directed : (any ong) 4
(1} Classification of Polysaccharides.
{2} Satwated and unsaturatec fatty acids.

Describe in details | (uny ong) 6
(1} Explain strucnire and furction of mitochondria.
{2) Expliin structure and funetion of chioroplast,

2 | Comtd...



{b) Do as directed : (any one) 4
{1} Lysosomes
(2] Endoplasmic reticulum

ar

Do as directed : (any five from seven) 5
(1) Define : Cell cycle

(2)  Funetion of Pyvrenoid

{3) Write down the name of simple lipids.

{(#) Which are the end products of Milk digestion?

(5) What is homopolyvsaccharide?

(6)  Deline : Mitosis

(7)  Guolgibodies.

CH-4431 | 3 | 2318 |
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CH-4440 Seat No.

B. Se. (Sem. IT) Examination
April - 2024
SC23IMDCBOT-203 : Botany
(Fruirs and Vegetable Processing)
(W.EF 2023-NEP]

Time : 2 Hours) (Total Marks ; 2§

B (1) ot Medl sz @
(2) wxell oy salde »is Ramadi- am suid 9,
(3) Gudl 3929 S AEERA sl WRa W,

1 {a) sBeas qsidl (66 un 2is) 6
(1) 9 wizd 47 ey sl el
(2} suseis mmasl-l A5l B W woal
(m)  Zoui aslal : (S0 wey ), 4
(1 Mieged] susei
(2} #ABEe et Uy Wsiany Hing $oi asl- sl

2 (=) WBear addl (S0 we s 6
(1) sz ssouz
(2) 3 sl el e
(o) Zanti aglal & (815 e Bis). 4
(1) wtsspy s2e] Gusis,
(2) astal : szl B,
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3 wisy waiEl 53 0 (85 we WA

(1)

sl ey syl

awey dnifis v o).

st ustadl ausoume Gelaza wid),
ot wmamdl : [oredlsan

HumelL sl GuEis srendl
sisHel Gyl il

Wizt s Gridaal sudh,

ENGLISH VERSION

Instructions : (1) Al questions are compulsors.

1 (a)

(B)

CH-4440)]

{2) Right side pumbers indicate marks.
{3) Draw a labelled diagram,

Describe in detail @ {any one). [
{1} What is fruit? Describe dehiscent fiuit

{2) Scope and importance of vegetable
preservation.

Describe in shott ; (any ome) 4

(1) Deseribe lealy vegetables.

(2) Describe drupe and pome type of fleshy
truit,

2 [Connd...



S

2 (a}

(&)

Diescribe in detail @ (any one) 6
{1) Frozen vegetables

{2y Method of making mango pickle.

Diescribe in shor : {(any one) 4
(1) Uses of amia juice.

(2) Describe : Potato chips.

3 Do as directed (any five) 5 &

(1)
(2)
(3)
(4)
{3)
(6)
(7

Definition of fruit.

Crive scientific name of carrol.
Give example of bulb vegetable.
Define word ; dehydration,
Mention the use of garlic powder.
Ciive uses of Kokom

Ciive example of [alse fruit

3 | 1170 |
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CH-4453 Seat No,

B. Se. (Sem. 11) Examination
April - 2024
SC2ISECBOT-206 : Botany
(Natural Resowrce Management)
{New Course)

Time:: 2 Hours| [Total Marks - 25
! o N
UL 1) B OMAAMAHL A WA
i2) i Ml salruid 8,
i3) ausll sy caida sie G2l weedlen e suld A
(4) Gmdl s A sHEDA susht Al sl
U () alfecnd geldl - (815w ws) 6 -~

) geadl wuF A den MEw
2) seound dell 2d 8 wuemdl,
{o) Zewp aEidl : (A6 ug wis) 1
1y adledlssz (amat-)
2y ol g Wiz s 4REsiil

2 (w) uRadiz astdl ¢ (s we wis) 6
1y bl sl
2 wadell e e sl el
() zswi asidl ; (515 un #s) 4
' () asd-
(2} waal Yaea
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§ o e e B (55 wa i) 5
(1) e e 4!
(y il wx ga k2l 2 Wiy el Bt
(3) alEE PR L
(4] SRl &4 il Al o M el suAdl
i
(5) ol S wl 3 Gualsl FauAl
() - gendl R 250 Gesl Sy e 07

(M el Wiausl Mzaiadir 519 WA & ful arudl.
ENGLISH YERSION

instructions ¢ (1) This guestions paper contains threc
questions.

(2) Al quetions are compulsory

(3) Figures at the right side indicate the
marks of guestion.

{4y [llustrate oL ANSWET with labelled
diagram.

1 ia) Describe M detail o (BNY one} b
(1) Natural Tesources and their types.
(2) What is horticulure? explain
by Write & short note @ (any one) 4
(1 Silviculture
{2y Factors responsible for goll erosion.
CH-4453] 1 |Contd...



2 {a) Describe in dewil @ (any one) f
(1) Soorces of frosh water
(2} My and minor products of Torests
(b}  Write a short note : fanv one) 4
(1) Wetlands
(1) Importance of forests

Y Do as directed ; (any five) §
(1) What is groundwater?

{2} What is the total pereentage of fresh water on
earth?

{3) What is bindiversity?

{4} Which state of India has the largest amount of
forests?

(5} Siate any two uses of land,

{6)  Whal 15 sustaimable of natural resources?

(7} State any Two measures (o prevent soil crosion.

Lt

CH-4453] | 1230 |
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CH-4422 Seat No.

B. Sc. (Sem.-1T) Examination
April - 2024
Advance Mathemartics - SCHMJ]JS{.‘MATIIII

i
lime : 3: Hiowrs | | Total Marks < 54

Instructions -
(1) Al questions are compulsory,

(2} The figures 1o the right indicare mirks of the
corresponding question,

I Attempr any twa - I
(i) 174 and B are matrices of type gy « and un « p
respectively, then (4B = g7 47

(3 52 g Ly ?
(i) Find rank of .=1'--| S using Row
[0 1 =3 o

reduction mc-th_n-d.

(i) Obtain sofution of following svstem. of equation
by row reduction echelon form
2i=3p=]
LX—ph5=7

Ir+y-2-=

CH-4422] 1 [ Contd...



2 Atrempl any two - 1

{iY Find reduction formula for J-cns"' xdenelN

wix

Hence evaluate » cos" xdy

miG
(i} Fvaluate J-Binlﬁrum't:lnﬁ-
{

- 2 i
(1i) Evaluate lim || 1+ — 14-—2

[ o e ne J

3 Attemipt any twe : I

(i) Find the arc length of curve 3 = log cosy from
x=0x= 5/4

(i1} Find the volume of the sphere of radiis a.
(iii) Find the surface area of symmetric cone whose
base radius » and height is b

4  Aftempt any two ! 10

: iy -y
Solve @ 2y—=—i—==]
(1) el 2 & 3

- dy
(i) Solve: (xr+ 2y 1= =1
dx
{(iii) Find general solution of differential equation
_vzpj —2xp+y=10-

CH-4422| 2 | Contd...
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Altemptany five : 3]

(i} State definition of Hermitian matrix and give
example.

(i) Stae definition of Skew-symmetric matrix with
examphe.

| e
(i} Eviluate [ cos® sy
]

2
(iv) Evaluate J-S:iﬂ'l.'l‘i.'ﬂﬁﬁxti'f‘
1}

(v} Find general soluticn of ¥ = xp+p° +log i +sin

_dy
where 7 5
: ﬂf!’ et
¥i) Solve ; =—+3y=u"
(Vi) = = ¥
(vii) Stare Bernoulli's differential equation and write its
general solution

Fad

| 990 |
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CH-4430 Seat No.
B. Se. (Sem.-Il) Examination
April - 2024
SCIIMIDSCMAT202 : Maths

lime - 1 Hours] | Total Marks - 25

Instructions :

(1} There are three questions

(2)  Figures to right indicates marks of the corresponding
(uestion '

1 Abempt gny two : o
(1} Prove that

J'sirl"j Ty = - l-sm"' )y s Rl -Isin’“—““1 xdr,
" n

wheren e N . Using this formula find the formula

M.
of _[" sin” xay _

VZ3.. s, 2560
- r Z— e e
(2] Prove that j‘u e s ol &9

{3} Provethat

1.fi +£H g

i L[Hl“lij-[nﬁ
M=ol el g iyt L n o
- (4) Find twe limit of
1 |

*m = : + .
;EH- [ =22 \I'II!:.-:'—E’::

CH-4430| | | Contd...




2 Attempr any twa - 10

{1

(2)

(3

(4)

If A and B are n = n invertible matrix then
prove that A8 is invenible and (A48 = gVt
(1 =
Find the inverse of 4=|1 3 il.
2

Find the inverse of 4={1 -] | using |

Lt o=1-2 |

row-reduction method. L
[2 11

Obtain the rank o 4 = 4 2 21 using =

12 4 9

Lchelon form.

3 Atempt any five . L

(1)

CH-4430]

Find the value of jﬂ“"cm'ﬂ;m-.

/3
Find the value of j: “sin® roos xelx.

| i
Find the value of 3.7 ~sec e

If 4 15 square matrix then prove that 4 + 4% 5
Hermitian marix.

If 4 is Skew-Hermitian matrix then prove that {4
15 Hermition matris.

Give an example of 2 » 2 Hermitian matrix and
3 = 3 Bkew-Hermitian mutrix
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CH-443% Seat No.

B Se. (Sem. II) Examination
April - 2024

Mathematics-11 : Paper - SCIIMDCMAT-203
Time : 2 Hours] [Tetal Marks : 25

Instructions : (1] All questions are compilsory.

(2) The figure o the right indicate the marks
of corresponding gquestion

I Atempt any two : (each of 05 marks) G

{a)

Shenw that 5
Any matrix can be written s
sum of hermitian and skew-hermitian matrix.
I =1
S
|

(b} Convert matrix imto row - reduced 5
3 1
echelon formy. Is it nonsingla?
(e} Solve following system of lnear equation by 5
row-reduction method.
= yelr=hlx+p=r=213x—p+2a=12
2 Attempt any two : (each of 05 marks) 10
ta)  Obun reduction formula for _[:-:in”" roos e, 8
(b} Prove that ; 5
) i
fi 2[5 3 | E
lim [ 1y —‘] [I*—]lhi] [l ;-’1]]" —4e!,
nsw |\ 0 " R i E

CH-4439]
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k]
; 93
- tan” # cos” Gt = 2
(¢} Prove tha E[ FET

3 Aftempt any five © (each of (01 mark)
<1 23

R

B

(i} Swutement : "There exists 8 7 « 12 matrix whose
rank 15 10%, 15 this statement true or false? Justify
VOUT BNSWers.

(H1) Statement : "The rank of m * o matrix having r
rows of only zeros is less than or equal to mr",
s this statement true or false” Justify vour answer,

(1} What is the nullity of matrix

b
(TV) Evaluate L}E sin” B cos’ B 48,

n
i¥) Ewvaluite jﬂB :tinra—_;r— :

.‘!2

L
(V1) What is the value of Eﬁ—.-ﬁmn-ﬁm?
K|

1
|
(VI Evaluate fim ¢/t where J{#) ="5_‘"—P__.,=1_
o rel VT gt

CH-4439] 2 | 1410 |
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Vime . 2 Hours) [Total Marks :

CH-4452  Sea No.
B. Sc. (Sem. [1) (NEP) Examination
~ April - 2024
SC23SECMAT206 : Mathematics
(Mathematics for Competitive Exam - 2

Instructions : (1) Al questions are compulsory,
{2) Figures o the right side indicate the
marks of the cormesponding questions.

1. Write the correct option

(4}

(2)

(3)

CH-4452)

A third of Arun's marks in Mathematics exceeds
a half of his' marks in English by 30. If he gt
240 marks in two subjects together, how many
marks did he ger in English?

(A} 20 By 40

(C) 60 (D) 80

A batsman makes a score of 87 run in the 17
inning and {hus increases his average by 3. Then
hig average after 17" inning is. ;

(A) 36 (B) 37

(C) 3% () 39

Dhstance between two stations A and B is 778
km. A train covers (the journey from A to B at 84
km peér hour and retuns back to A with a uniform

_ speed of 56 km per hour, Then i5 the

average speed of the train during the whole
Journey,

(A) 10 km/hr {B) 672 km/hr
(C) 42 km/hr (D) 62 kmthr

25

15

1 | Contd...



{4)

(3}

(B}

{7)

(8)

(@)

CH-4452]

Fhe sum of twao tational number and is reciprocal
3

is T. Then is the numbet,
2 3
(A 3 (B 3

(Ci (A} and (B) both (1)) Nome of these

50 is divided into two parts such that the sum of
their reciprocals is 113 is the greatest
number.
{A) 15 (H) 6
{Cy 4 (D) 23
P+

i P e i

o P-g

1

(A) 3 (B} 13
() na‘% (D} Nome of these

is the average of all the rumbers
Ferween 6 and 34 which are divisible by 3.
{A) IR (B) 0
) 24 (Dy 30
The suitt of two numbers 15 40 and their product
. 375, Then the sum of their reciprocals 18

i B

P = By —

LA) 0 (H} =5

© 2 () 1—;

Which ot the following e i decimal of 2.8%7
(A 0.28 (B) 0.028

(Cy 00028 (D) 2.8

fi=d

| Contd...



{10} When the price of a product was decreased by
10%, the number sold increased by 30%,
wits the effect on the total revenue.
(A} 17% By 27%
(C) 37% (D) 47%

(11) How many kgs of pure salt must be added to 30
kg of 2% solution of salt and water to increase
iea H% solution?

(A) (B)

(L) (1)

(12} The salary of a person was reduced by 10%. By
wht percent should his reduced salary be raised
30 as to bring 1t at par with his orighhal salury?

20 s Lk | de
= |l us)es

11 10
FA) 9 B} 2

101 Ak s
L) s (D) None of these

(13} If the cost price of 12 pens is equal te the seiling
price of 8 pens. the gain percent is
(A) 25% (B) 5%
) 75% () 100
(14) At what percentage above the C.P. must an article
be marked so as to gain 33% after allowing a
customer u discount of 5%
(A) 16% above CF (B} 200 above C.P.
() 40% above CF {D) None of these
{15} Find the single discount eguivalent to a4 series
discount of 20%, 10% and 5%.
(A) 68.40% (B) 78.40%
() 21.60% (DY 3L60%
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2 Allempi any five : 1]

I

e 1
i

UNTR SN T

{1y 1If =x. then fnd the value of +.

—

2o

3+—1|
J=

4

(2) The zverage of 11 resulis is 60, 1f the averape of
first 5ix results is 58 and that of the last six is 63
find the thirteenth result,

(3)  The sum of the squares of three numbers is | 38,
while the sum of their products taken two af a
time 1s 131. Then find their sum.

(4) Find the averuge of ten positive numbers which
are mereased by 109%

(3)  Two numbers A and B are such that the sum of
5% of A and 4% of B 1s two-third of the sum of
6% ol A and 8% of B. Then find the: ratio of
AB.

] .
(6) Ir i Part of the population in u village are males

and 30% of the males are married, Then find the
percentage of unmarried females in the total
population.

(7} Whena producer allows 36% ¢ommission an the
retail price of his product, he cams & profit of
B.8%. Whar would be s profit percent if the

~ commission 1s reduced by 2497
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CH-4426 Sear No.

B. Se. (Sem.-I1 ) (NEP) Examination
April - 2024
Microbiology SC2IMIDSCMIC201
(Miajar Divcipling)

(Cell Biniagy)

i
Time : 2— Houyrg) [Total Murks - %0

I Answer any twa questions from the following 10
(1} Differentizte between plamt cell and animal gell
(2} Discuss the cell wal of bacteria in detail
(3)  Discuss the three classes of Cytoskeleron,

2 Answerany two Guestions lron following - U
(1) Discuss structure and function of Mitochiondria
(2} Discuss structure and funclion of Nucleus
(3} Write a-short note on 2 Cell-cell Interaction,

3 Answer any. fwe questions from the following 1
(1) Wrike a short note an Maiosis.
(2] Write a short note on Eukarvorie cel| cvile,
(3} Diseuss programmesd cell death

1 Answer two questions from tollowing [
(1) -Discuss the irregutution of eell crele due w canger
(2) Discuss cause mngd ypes of cancer
(3} Writz & shion note on differen Carcinogens,

CH-4426] | | Contd..,



(1)
{23
i3]
{4}
3]
(6)
(7)
(%)

CH-4426]

Answer any five guestions from following ;

Define Oncogenes:
What is middle famella and its fimenon ?

Peptidoglycan is present in the cell wall of
Define Benign Tumor and malignant tumor,

1w

e —"

What are peroxisomes and whal is its function?

Name fwo signil receptor molecules.
Define : Mitosis.
What ¢ Plasmiodesmaty and its functien 7

| 840 |
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C-4467 Seal ho
B. Sc¢. (Sem. 11) Examination
April - 2024

Indian Constitute : 2058

Time - 2 Hours| [ Foral Marks - 13
1 odmeese] werg [B% 20 dmal 5
LT
1 cllzunied deoll ulky ol 2ol 23] 531, 5
2 suel wlfsEl [BR gsdl wal 53 5
ERUETY
A R R TULAE] e (R S T 1 5
3 Ay ety Wi Ayl 5
A
3 onteelly s YA M BHEL 8
4 il A ws Wenedl WA Ul 10

(1) 2zl uBani gesllua-l sdmeEl- 254 aumal.
(2)  oiwsel W (B0l sdL
(3} mae e sies izl alusd @R A il
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ENGLISH VERSION

! Duscuss in short Impartance of Constitation. 5
OR
1  Discuss in Short Procedure for Loksabha Election. 3
1 Discuss Rights of Members of Parliament. 3
OR
1 Discuss in Shori Liabilities of Execufive Council. 5
3 Dhscuss Strueture of State Judiciary 5
OR
3 Discuss in Short Importance of Judiciary fn Indian 5
Constitution
4  Write Answer any onc Question below : 1
{1} lLiabilities of Election Commissioner i
Election Procedure
{2) Discuss lmportance of Constitdion
(3} Discuss Qualification for Member of Parliament,
(C-4467] 2 I 210 ]




